EANRAROESIERT —

ZN—ABISH—F

2016512848 (H

) 7EKR5H

m C1Z# 7% —#% ‘ (%E] W ‘ (mEsE] — | 4 (&) 16000 B
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 3 | FIEREMR 1:46.7 3-3-1-1 |42.2| — 2 445 | BREEBAE (B%FE)
11811 HEAEA 54.0 (=) 7 Xiﬂlit
R:d—RAMO— BI VIl 7r¥— INTF—L
k v 4 | THE 1:46.7 6-5-3-2 [41.9| — | 1 | 407 |ERR#ER] CKiR)
2l7l8| vVt T (78 i) |HEEE
L:TLAIFTI R B:)anNC K= B85
“ 4 g | SEBE 1:47 .1 9-8-8-5 |41.9| — 6 485 | ZHE@E (KR)
31111 1¥FvY 56.0 21/2) (45) | WK Tzavdey b
RTANKET Yy a2 BEYNTH e e
i B 3 | B 1:47.1 5-5-4-3 | 42.4| — 3 47 | #F=— (KR
4 ) 3| 7V—-R 54.0 reh) Ly |8 T
:aA>FaM4y b BvIRXIXRLY EvilLy RT7—L
= — s R 147, -10-9- . — 12 AR (AKGR)
5 AETCEREES B4 R 1(447)7 10-10-9-8 | 41.8 7 :1_417) g 7
L:F 4 —TAHA B:EA1 b N)=TLT Gt e
4 6 | HEEHE— 1:48.1 7-7-6-7 | 43.1| — 9 464 | /INEBEEAE (BEFE)
6!5/5|F¥2/ A% AL 56.0 @ 1/2) (1) |FAFERZ
R:TA—T4FAF—XH¥> B:O2—KRk7a> b FRIKBREBAIS
o= e #HER 01— — #HEX (KR)
71719 HAN=2F7) s 54.0 1'(438)'6 S it ! (4_144) 1333‘2%;5’5
L:77NTZT7 B:7O-FL74 K N CEae]
- 8 5K : ~11-11- — {2 ARBA (KR)
8 o | PNTS AR o6 K 1.(418).8 1-11-11-9 | 42.7 10 :_917) et i
L:Tv TRy b BT —7q4— ks
- BREE 148. -4-5- . — REEM (KR)
9 7]z Y- hHT— % 3 5_0 1(14/82)9 4-4-5-6 | 44.2 8 (4_1?2) iy
LN—ErTv— BAAHIILHT— HE77—»4L
P1) it 4 | ERREE 1:51.5 8-9-10-11 | 45.7 | — 11 484 | a4 ARl (KGR)
16| 7YtF7 5.0 (544) (o) |FHEL
R4 TAVv— B:ZRAIIZARLZR () #AI—-KL—>a>@AET 7
o o6 | ANERE 1:52.1 1-1-7-10 | 47.3| — 5 498 | BAIESE] (KiR)
11|8l10) 7=V 71k A51.0 @ (o) |1ETa7s
R:RAF2—FTUNF4 BRIIYUH SRERAS
® I —F—@EBIERL
13—3— 10,9,11,7,3,8,5,6,1,4,2
20—F— 10,9,11,7,(3,8),5,1,6,4,2
Jol=5r= (9,11),8,3,7,5,10,1,4,6,2
43—F— 11,8,3,9,1,7,5,4,2,10,6
[ N3
BB 1 370H 714K 8-11 320M % E 7-8 350M 3EHE 1-8-11 1,840M
8 B 1 1504 1-11 620 B & 8-11 510 K31 11-8-1 5,130
8 1309 1-8 500 B H 11-8 1,150M
1 230M
ABICOVWTRHDTERERRODLDE, THERLE,




